WHAT IS YOUR LEARNING PROFILE
SCORING GUIDE

1. Actives vs reflectives

Simply circle your choices of responses to the following questions.

Question number Choice of response
(1 point per response)
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Analysis of results:
[1 Give yourself one point per answer.
[1 Add each column separately.

[] Subtract the number obtained in the second column from the number obtained
in the first. For example, you got 7 points in the “A” column and 5 points
in the “B” column. This gives you a result of 3 points (7— 4 = 3).

LI If your result is between 1 and 3, you alternate between the two profiles.

LI If your result is between 5 and 7, you have an average tendency toward one or the other
profile.
] If your result is between 9 and 11, you now know to which category you belong.

2. Sensors vs intuitors

Simply circle your choices of responses to the following questions.

Question number Choice of response
(1 point per response)

Q.2 A B
Q.6 A B
Q.10 A B
Q.14 A B
Q.18 A B
Q.22 A B
Q. 26 A B
Q. 30 A B
Q. 34 A B
Q. 38 A B
Q.42 A B
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Analysis of results:

1 Give yourself one point per answer.

[1 Add each column separately.

[] Subtract the number obtained in the second column from the number obtained
in the first. For example, you got 7 points in the “A” column and 5 points

in the “B” column. This gives you a result of 3 points (7 — 4 = 3).

LI If your result is between 1 and 3, you alternate between the two profiles.

LI If your result is between 5 and 7, you have an average tendency toward one or the other
profile.
] If your result is between 9 and 11, you now know to which category you belong.

3. Visuals vs verbals

Simply circle your choices of responses to the following questions.

Question number Choice of response
(1 point per response)

Q3 A B
Q.7 A B
Q 1 A B
Q.15 A B
Q.19 A B
Q.23 A B
Q.27 A B
Q. 31 A B
Q.35 A B
Q. 39 A B
Q.43 A B
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Analysis of results:

[1 Give yourself one point per answer.

[1 Add each column separately.

[] Subtract the number obtained in the second column from the number obtained

in the first. For example, you got 7 points in the “A” column and 5 points
in the “B” column. This gives you a result of 3 points (7 — 4 = 3).

LI If your result is between 1 and 3, you alternate between the two profiles.

LI If your result is between 5 and 7, you have an average tendency toward one or the other
profile.
] If your result is between 9 and 11, you now know to which category you belong.



4. Sequentials vs globals
Simply circle your choices of responses to the following questions.

Question number Choice of response
(1 point per response)
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Analysis of results:

[1 Give yourself one point per answer.

[1 Add each column separately.

[] Subtract the number obtained in the second column from the number obtained

in the first. For example, you got 7 points in the “A” column and 5 points
in the “B” column. This gives you a result of 3 points (7 — 4 = 3).

LI If your result is between 1 and 3, you alternate between the two profiles.

LI If your result is between 5 and 7, you have an average tendency toward one or the other
profile.
) If your result is between 9 and 11, you now know to which category you belong.



